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1 fhHEER 42 49 | 91 19.6 T1.4
2 WREiES 40 38 78 6.4 71.6
3 EHEF 44 46 90 16.0 74.0
4 6 EIEZ 41 41 82 7.6 74.4
5 KKK 45 48 93 18.4 74.6
6 2 B FNZE 48 44 92| 17.2 74.8
7 EESER 43 42 85 10.0 75.0
8 {2 KThH 42 46 | 88 12.4 75.6
9 BEARIE 48 45 93| 17.2 75.8
10 FAFIE 40 45 85/ 8.8 76.2
11 Baldr#sl 48 49 97 20.8 76.2
12 FHSER 46 50 96 19.6 76.4
13 [LARA 48 47 | 95 18.4 76.6
14 EEAPLT- 46 47 93 16.0 77.0
15 mRRE 52 56 108 30.4 77.6
16 [UAEEIR 45 50 95 17.2 77.8
17 SFR T AT 46 48 94 16.0 78.0
18 FH)INE 49 50 99 20.8 78.2
19 A= 50 54 104 25.6 78.4
20 )& 5t 48 55 103 24.4 78.6
AREIEES A7 48 95 16.0 79.0
22 A HIEE 48 43 91 11.2 79.8
23 KIEFEZIT 43 52 95 14.8 80.2
24 FHI)NEF 46 48 94 13.6 80.4
25 FRIEE = 51 46 97 16.0 81.0
26 76 _FEEfT 52 54 | 106 24.4 81.6
27 ARACELR 54 56 110 28.0 82.0
28 AR S+ 48 43 91| 8.8 82.2
29 flZ e 51 56 107 24.4 82.6
30 AR 53 58 111 25.6 85.4
31 - H 54 50 104 18.4 85.6
32 [LIAHE 59 63 | 122 31.6 90.4
33 JUAALF 82 55 137 35.2 101.8




